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Candidates are required to give tlreir ansu,ers in their orvn vn,ords as 1br.as practicable.
The figr"rres in the margir-r indicate full n-rarks.

FullMarks: 60

Pass Marks: 24

Time: 3 hours.

Lon g :r n su'er q uestions.

AtterttpL arr_r T\\ O qrr-'sri.'::s. (2x10:20)

,wha,t 9o 
r^ou m.ean bv dispersion? Distinguish between absolute and relative measures of dispersion. Ten typists

V applying for a job in a company made the following scores in a typing speed test.

Applicant 1
I 2 J 4 5 6 1 8 9 t0

Speed
(ri orcis/ilin)

55 56 80 1t a7 62 t6 90 73 68

cLinri-rr,iie ;r,ear median. ransc and standard aeviation c'tat,ove aati

2'Defrne positive and negative correlation. what are the required assumptions for correlation analysis? A data anall,tic
ccmpany wants to find the relation betu'een traffic in website (x) peiday and server downtirne (y) in minutes per
riay. The collected data are:

(i) Fjnc the correla:ioir coel-,lcient betu,een * ,nd 1. i.,t..p,"t t1,,. *1u..

1ii) Find th.- regiession equarion o1'\,on x. Estirnate the value of 1,ri,hen x: 16.

(iii) Interpret the value of r, -intercept and slope of t1-ie line.

3' what is the significance oJ'normaI probabilit]'distribution? what are the main properties of normal cu^,e? T1e timeit takes a cell to divide (called mitosis) is normally distributed rvith an average ti,e of one hour and sta*dard
deviation of 4 minutes. What is the plobabilitv that a cell divides in less than 55 minutes? (ii) What is the tirne that
it takes app'oxirnatel,: 99oh of all the cells to complete nritosis?

Section B

Short ansu'cr q uestions.
Attempt an1. IIIGHT questions.

4. Define statistics. Discuss in brief importance and linritatioirs of sratistics.

(8x5=40)

X 9 l0 t2 9 i0 13 13 19
Y 26 38 27 45 55 80 84 100
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are the measures of central tendencl,''? The lollou,ing anr ihe ntarks obtained b; 95 stuclents in

Marks 20-30 30-40 40-50 50-60 60-70 70-80
No. of students 10 11 r9 26 15 8

Find (i) thc modal nrarks (ii) the lori,est marks of the top lOok student.

e ,4factorvproduce tu'o t1'pes of electric lamps A and B, in an experimeut reiating their life, the fbllorving results
1,/ u,ere obtair-red:

Length of 1i1-e inl0C0 hor,rrs 4-6 6-8 8- 10 10-12
Number of larnps A 1 9 1l a

J

Number of lamps B 5 10 i3 2
State (i) rvhich model ltas a longer average life? (ii) \\/hich nrodel is more consistent in tenrx of lifg?

,/Thefollolvingscoresrepresentthefinal exatlinationscoreforanelementarystatisticscourse: 45,6,5,23,32.51 .i4,
60, -?0, I 7, 10, 80 and 5 0. (i) Compute fir,e number summary/ (ii) Construct a box and rvhisker plot and interpret the
resr-rlt.

8. Explain the ma'.hematical approach of probabilitr,. A iist of impofiant customers contains 25 names. Arnong them
18 persolls have their accouilts in gooC standing uhile 7 are delinquent. Three persons will be selected ai r.andom
liom this list and status of theit'accor,rnts checkeci. CalcLrlate tire probability that (i) all accounts ar-. ielinquent (ii)
one accoLlnt is delinquent and others are ir-r good staitdir-rg.

9. State Bave's theoru'l-i't. .\ probletr on ntui:ip1e-chojce clLriz is onS\\it'eri .Lrrrecti) nith probabilit.v 0.90 if a stuclenl is
prepareC. An r-rnprepareC student glresses aetueen -l rossjb;e ans\\,ers. so that tire probabiliti.c,l l,^toosing the right
ans\\'er is 1 i-l. E igiltv percent of students pi epaf e 1 or the qLriz. If a s1r rcient X giye s corre ct ans\\rer to thiJ probleil.
u,hat is the probability that he did not pr"enere f'or iir,; ejuiz?

10. Of'tile itenls pl.oduced b1' n colnllan)', 3"/o are cieleciive, A sarlple of 25 itents is selectecl lor inspectioit. Use both'" iritrotrrial anC Poisson distrib'.rtion to ansuei'the qllestion: rvhat is the pt'obabiiitl,ihat exactll,tivo defectives are
tbund? Cornpare the r:sult.

uppose X and Y are independent random variables having thejoint probability clistribution:

f(x, l')
X

) 4

1 0.10 0.20
3 0.1 ,5 0.30
5 0.20 0.05

Find (i) marginalprobabilrti'distrjbLrtion of X and Y. (ii)E(X) (iii) E(\,) (ir) E (2X-3y) (v) E (Xy).

12. Aprivateounedbusinessoperatesbothadrive-inlacilitr andwalk-infacilit_v.Onaranciomll,selecieddav, let
X and Y respectiveiy, are the proportiotts of tite tirne that tire drive- i1 and theivalk -in facilities are in *se, and
suppose that the joir-rt density function of these randorl variables is:

f(x, _v) 
: 0.4 (2x+3y), 0< x< 1, 0 < ), <1

:0, elservhere.

Find P(0<x < 0.5, 0.25 <),< 0.5)

1 3. Write shoft note on an)/ trvo: (i) Priman' data and secondary data. (ii) Sampling egor and non sampling error (iii)
Intert al scale and ratio scale of measurernents.

Statistics.
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